Amateurfunk-Kurs
Ortsverband C @1, Vaterstetten

DH2MIC
23.01.06

DER TRANSFORMATOR

Test: Transformator 1

- RECHENBEISPIELE

BERECHNE DIE FEHLENDEN GROSSEN:

U1 : Uz = M N2
Ny
ny N9 u= ’Fz" U, Uz
250 500 100V
500 100 V 500V
500 25 200V
10 200V 2V
|1 |2 = N2 D0y
= | |
Ny N2 *n, 1 2
400 100 0,5A
100 0,2 A 2 A
250 500 0,4 A
400 1A 0,25 A
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Amateurfunk-Kurs
Ortsverband C @1, Vaterstetten

DH2MIC
13.04.06

DER TRANSFORMATOR

Lésung: Transformator 1

- RECHENBEISPIELE

BERECHNE DIE FEHLENDEN GROSSEN:

U1 : Uz = N N2

_ M
Ny N7 u= —I'Tz— U, Uz
250 500 1:2 100V 200V
100 500 1:5 100 V 500V
500 25 201 200V 10V
1000 10 100 : 1 200V 2V

l4 I, = Ny

- | |
Ny ) u= N, 1 2
400 100 4: 1 05A 2A
1000 100 10 . 1 0,2 A 2 A
250 500 1:2 0,4 A 0,2A
100 400 1:4 1A 0,25 A
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